AR R RETEIRVBBCFH Y

lanxing Daishu Zuoveli

#* 4
B R 3

Bt T W K ¥ W MR At



% P 1R B fE b

(B)

BT RFEAHFRAIEREEKFA %

[ |/ B A NI = < B 3



E_E EBERHIEZH

1. BHMALEE#R
=y +y + ¥ = z+ 2z,+ 3z,
{12 =yt y—y {yz =— 2= 2z,+ 4z
3=y — ¥t ¥ Y3 = 52,+ =z
(1) 43315 H BT R 5 R

(2> KMz 2,2 Bz, 2z, 2, HEBEEHR.

2. IWWETHIHEM.

2 0 1)[—3 o0
(1) —2 3 2 2 1
4 1 1 0 3

x,)

2) (x Xy Z3) Ty

ko



KUERBELE B

a

(4

S O O m

SO O N —~

S —~= O

— N —~ O

(%)



BB EERREH

a 0 1
3. % A= |0 a ow,jt A* (K e BIEEH).
0 o aJ
3 3
4. RWHR A+ aB = ) J y,A+B=E , AB=0W¥aRk "W GEARB .




# KERBELE B)

5. RF 575 B B 46 ¥ -

a b
@D) , (@246 =2)
—b a

[«
S>> = O

(2) [
a

— o O
N

0 1 1
3 1 0 —1



B AMERHEH

E: S

— O O O

N O O

MmO —~ O

<+ —~ O O

4

K AT

-9
—3
— 6

3

3
6
— 3
0

S O O N -~

©SO O O v N © o o
O O N O O _
MMOOO —~ O o ©
Pl I

| .
T8 . 7
o .E ©o o o g
(S _..D

(5 [

(6)



KERBELE B

0
0
—1

» K (A4 2E)7'(A* — 3E) .



BoE ERERHZE

7. BTIIERETR:
(2 1 4 —6 o]
V) .
{3 2 2 1 2




8 SERBIELE B)

2-r1+212+ 13=1

8. ﬂﬂiﬁé@lﬁéﬁfé%ﬁﬁﬁzﬂ{sﬁ + z, +5x,=0.
3z, + 22, + 3z, =1

9. RABMEREH TR XA =B +2X ,HhA=

= os O O

= w o o

.

N =

N = N O

N o= O o



$_H EERHEH

10 A =0 (BHE—-TFEB),IFBH (E—A)'=E+ A+ A% + - + A,

1. AR BA# A" B AMEEERE. W THSRT
(a) (A*)" = (detA)"'A  (b) (A")" = (detA)"*'A
(c) (A")* = (detA)" 24 (d) (A°)* = (detA)"+?A

2. WARLHEEH: HAA=0 WA=0 .

IEH IE RS



10 KERBIELE B)

13. AN n B Al Xt BRAERE B 2y n Y M #RAERE. 24 E + AB A% Bf , iiE (E + AB) 'A Jg 3¢
PRAE R

14. §P'AP=A , Hs P =

— = O
S = O
—_ O




B_E EBERHIH 11

A O
15. A= [01 A ] » H aoA! + aﬂ‘?" - eee +an—]/1i +a,=0 (G=1,2), ‘ESR a " + alA"_]
2
+ - +a, A+a,E .

~1

0 A
16. Btm BT B A B n By J5 R B # AT, 3R

B

17- B%ﬂg";ﬁﬁ A = (a.j)sxa ﬁfg%#: (1) ai, = A,'] (179]' = 19203);Eq: A,J Ea,l E(J
REBRFR; (2) a), #0 . HHEFTHIR detd .



12

SERBELE B

18. RARRE (& A.B A n B i)

(D
2
(3
(4)
(5
(6
(N
(8

(A+ B)(A—B) =A*— B* .

FHAX =AY ,HdetA70 MX =Y ,HFX,YHE» X m 5%

FA =0 ,A=0 .

£ A2=B NA=BXA=—B.
£AB=0 JUA=0FHB=0 .
EdetA=0 ,0I|] AA° =0 K A"
# A,B# A, N A+ B A[ .

R A B PEREE R

HA=0,ME+ATHHE+A'=E— A+ A" .

19. B8 EHETHE

(1)

(2)
(3

(4

B4 B=(1.2.3) .C= (1.3, 3

B AN R, H detd = 2,1 det(

#=ABEE BN JAL
(a) det(AB) = det(BA) (b)

(¢) (AB)" = ATBT (d)
A B
BnHrHEE AB,CHEBA[H, N
cC 0
(A 1 B
(a) ) ] (b)
lcC™' 0
0 c!
(c) [ ‘ (d)
B! — B'AC™
BHEAWE A +A—TE=0 ,

BnBiiABCHREXRZANABC =E K ER n (i 560, Mg
(d) BCA=E

(a) ACB = E (b) CBA =E

11)_

(c) BAC.= E

#% A=BC A" =

1,07
4 -

det(A + B) = detA + detB

(AB) = A*B*
==
0o C!
B! A!
— B 'AC™! C']
B! 0
WA =

e T e N N N S T NN

» (A + 3E) !

~ N o



FNE @EBAMSKHEREXE (—)

1. E;%ﬂ a, = (5iy = 1!39294) ) 3a1 - 4“2 = (3959 — 7, — 2~8) . 1'5\‘“5}3 2“1 - 3“2 o

2s %‘rﬁlﬂa= (_ 1, — 99296) ﬁ}—f\-ﬁﬁ a;, = (1, - 2,093) y Oy = (2;3909
(20 - 19291) %é&ﬁgﬂ’%.

3. FIWT T 3 1] B 4 A LR AR KA
(1) a] = (1929 - 194) ’ az = (99100;1094) ’ a3 = (—' 29 - 4;29 - 8)

1 2 1
(2) Bl_ 1 ,Bz= 1 -ﬁ3= =1
L4 3 —6

—1) Xy =



14 ' KHERBAELE (B)

(3 )’1 = (3919092) ) yz — (19 — 142, — 1) 3 )’3 = (1939 = 4el) s

4. WEBH o« , o , 0 RETR, RHWTH M EHRAREA K.
(1) ag+o ,o00+a, ,a0+a, +a;, .

(2) Cq-G'z—FZO’; 9a2_"a3 y2a1—02+3a3-



FmuE EEBANKEHEXHE (— 15

5 kaKfﬁI{EB‘LFﬂEZﬂ a] == (19k90) ) az = (0919k) ) as = (1?2!1) %ﬁ%%

6. Way,, a0, AnfEmBH, LB =a +a  B=a+a, - B, =a,+ o LERH .
(1) X m HEKE,BL.B,, -, B, KM K.
2 % m ﬁﬁﬁﬂﬂ‘,% (2SI PR - i&t‘fﬂﬁ%,ﬂﬂ Bl’BZ"“’ﬁm %ﬁ%;&



